Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER -4 (NEW) - EXAMINATION - Summer-2023

Subject Code: 4341901 Date: 13-07-2023
Subject Name: Estimating, Costing and Engineering Contracting
Time: 10:30 AM to 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
Marks
Q.1 (a) Explain procedure for constructing breakeven chart. 03
Usll () S Sdsl ULl sl s27ledl I quil. 03
(b)  Write the assumptions made in construction of Breakeven chart. 04
(Gl) A5 Bdel Yléofl et 1M ST 1] YRR quil. 0¥
() Find out the Breakeven point analytically (mathematically) and 07
graphically from the following data: (i) Total Sales = Rs. 70,00,000, (ii)
Variable cost = Rs. 49,00,000, (iii) Fixed cost = Rs. 12,00,000, (iv) No.
of components = 35,000.
() AllBUds wa w1quily ldell A10e (Adldl Hi2 Ws Sael Ulge? 2llel. (1) §4 09
AYIBL = . 90,00,000, (}) AINAWE SR = . ¥,00,000, (3) §IKS Sl = =,
1R,00,000, (¥) §11Ulete2efl 2{uL| = 3,000,
OR
(c) With the help of Graphical method and Analytical method find the 07
Breakeven quantity where fixed cost is Rs. 10,000 and Variable cost
per unit is Rs. 50 and Selling price per unit is Rs. 120. The production
rate of the company is 200 units.
(5)  wAu{lY w4 L[S d s Sael ul 2l §15RS Slke] YU . 10,000 09
dell AANWE §12/3Y (w12 0. Yo Wl AUIRL 12 /3Y[e12 . 90 €. SUsflell Glest
£2 200 Y[e12 8.
Q.2 (a) Define the Costing. Explain the need and importance of costing. 03
ust2 () sRelredl el @ufl defl gredlauld 2 Heod qudl. 03
(b) Explain “Specific Order Costing” and “Continuous Operation Costing’ 04
in detail.
(@)  “AELS 2015 SIRETL” U “sedloyyy 1URRlet S1ET2L” (AAAdalR Aol oY

(c) Find selling price of a steel table if the prime cost of 3000 tables is 07
Rs.150000. Factory overheads are 60% of prime cost, administrative
overheads are 40 % of factory cost and selling over heads are 30 % of
office cost, and 20 % profit on total cost.

(5) 3000 2uidef] YUIEH Sl . Uoooo B, k52l WldRES ULSH SlRell £0%, 09
a&ladl 1dés sl sleeetl ¥0% dal AU HNAES WU [sU sleell 30% B.

%\ 54 [S5Udell 0% <15] Adl €1A dl A5 2|d 2eideil AUl (FUd LAl
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OR
Define the Estimating. Explain the need and importance of estimating.

AR 2T1A] cattul @ud] defl euld e Heed UHo1d).

Classify the department wise overhead costs and explain any two with
example.
[et1ol UH LSl [R1RUL] wWsf 4oflsl 531 21 A A GelsL A1 A,

Define and enlist the types of depreciation.

A lathe machine is purchased at a price of Rs. 60000 has its useful life
of 15 years. Its scrap value is Rs. 10000. Calculate the depreciation per
year by sinking fund and straight line method. Rate of interest for
depreciation fund is 12%.

YR g R1efl calvdl dui] detl UsiRedl Alel oletidl.

A5 Qe He{leloll We (BUd . L0000 8§ dell def GUAL %ot U AN B, Al
H2flstefl GidL1R (BHd . Q0000 B, d] &2 AN ad)l Y& YR Ril59L §Seil T 44
R @1l Idefl Nel. YU YA §Sell Ul €2 1% 4l

Define the following terms: (1) Shape weight, (2) Net weight, (3) Gross
weight

WG Yelal cqluAlhd 53): (9) AU d%el, () A2 de, (3) ALY el

Describe the method of estimating cost in Foundry.
51G=S| 512 WEIN2Le 53qlof] Usg [dl ).

100 numbers of rings are to be forged from a soft steel rod of 1 cm
diameter. The ring has internal diameter of 8 cm and its outer diameter
is 10 cm. If the scale loss is 6% and shear loss 2mm of the length of rod
for each ring, find the total material cost if the rod is available at Rs. 3
per meter length.
1 AL cAlUell oM UldLestl MO 1Ml 200 TN 818 53] Wetlddle] B, 2aledl
vieRell Uy ¢ AHL UA WsReAl Ul 20 AL B. %) 3¢ Al €% el AR
Al e3s oL iR R HLML dodigeil Q1 dl 56 1Al RuE W 20lH). A eild
. 3/HIR 8.

OR
List the various types of forging losses and explain any one.

(alay usletl s1oTo1 dldluedl ALE] wetid] AR A s Yuestd).

Explain various pattern allowances.
(CICCRELRNCTIELe RTRIC IS

Calculate the cost of C. 1. pulley of 1200 cm? using material cost = Rs.
10/kg, wages paid to the worker = 50/day, density of C. I. = 8 gm/cm?,
overhead charges = 20% of material cost, melting charges = 20% of
material cost, number of moulds prepared = 25/day/molder.

1R00 Q{13 of 5¢ "Add] A5 5122 WlAstell Yol 56 5122 14104 (Ao1d) uell
gl H2lRuds(l (5Ud = . 0/(5.2L, HIESR] Adst = . Uo/[edd, H1dES
YISTA = HERUGA] (BUdeil 0%, HIeSTIL WY = HERUGSA] (BHds1l 0%,
a{uz Ul Hlesell Aul = u/(edu/HIESR W S1RETeA eleldl = ¢ AM/AM]3
ql.

Explain the procedure for estimation of cost in case of Gas welding.
Y deslatell sl WEINe 54l Hizell Ueg[d qHdl.

State and explain the advantages and disadvantages of solar roof top.
UlER e 2lUell SlAEIAL el AR§IUEIA] [AdldalR YHexdl.

A MS plate of 2000 x 1000 x 5 mm size is to be cut in the four parts of
1000 x 500 x 5 mm size by gas cutting. Calculate the cost of cutting
using following data: (1) oxygen consumption — 1.5 m%hour, (2)
acetylene consumption — 0.2 m3/hour, (3) cutting speed — 20 m/hour,
(4) rate of oxygen — Rs. 10/m?, (5) rate of acetylene — Rs. 20/m?, (6)
wages — Rs. 20/hour.
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R000 x 9000 x Y H|.4]. «fl M.S \@eu el 1000 x Yoo x U 1] «ll YR 2551 Y
51018l siudlell 8. dell 52101 WA WG o) Ul AN, (3) v\ [53ose1
aurlel - LU Hl3/sdls, R) WRElElA qurigl - 0.2 Hl3/sdls, (3) sludlel auld
— R0 Hl/56LSs, (%) wL[sU%etell @lld — 2. 20413, (U) U leteAl ellat - 2=,
0413, (g) U] - 2. R0/54 15

OR
Write down the formula of time calculation for turning operation of
lathe and drilling operation of drilling machine.
ael Hefletstl 2o{lol auelst e Slalol Heflstell Slelol Bluelstell Hisil
UHUeA] AQIAT] SRaleli Yot vl
Define the following terms associated with machine shop estimation:
(1) Cutting speed, (2) Depth of cut, (3) Approach, (4) Over run.
Heflet 21U AL A5N1AG Yela cAluvALRd $20: () 52121 dls, (}) Sl wls 52,
(3) AU, (¥) AR R,
Calculate the turning time required to reduce the 50 mm diameter
aluminum bar into 40 mm in two cuts. The length of the bar is 80 mm.
Consider the cutting speed = 20 m/min. and feed = 0.10 mm/revolution.
¢o HLHL duigalal As ANaLsR Ry [yH A(ndledl el Yo HLHL. el ¥o
YLl Yl A seui gelsdimi w1d 8. 5211 1ls 20 Hl /(42 wa §1S 090
L] Rldleyelst 113 2ol IR osed] YHeil AQld3] 530,
Explain the procedure of cost estimation of power produced by diesel
generator set.
Slyd %322 A2ell Gzt ddl Uldrs 5122 110Ut sdlefl Ulsul qH2dl.
An ice plant with ammonia as refrigerant is producing 160 kW
refrigerating effect. The evaporator theoretically rejects 1000 kJ/kg
energy. The theoretical compressor input is 185 kJ/kg. Mechanical
efficiency of the plant is 80%. The plant is running 24 hours. Power cost
is 10/unit and labour cost is 2000/day. Determine the cost of ice
production/kg if the overhead cost is 5000/day.
AU [AUL As%Re2d 10l WS MISH Wiz GIRL 980 [s.dl2efl Asu2]ol k52
Gt &l 8. L Wlseail SlueR gl G000 (5.66/(5.1. B2cl GWL Aegilds
Ad ABse spAU V. Ailds SINUR Foye U (5o6/(5A1 B, \Eloeei]
[M3ellsel slAetHdl ¢u% «il SUReA] AR1dUI Adisll 8. sles ruRUT WRWR
Ele 2Nl Co% AUl B. Wle2 Y 5615 51l & B. Uld W/ [e12 10 e HogR]
WU/[£dl 000 1Y dl Uld (SEAIH wISH Glleat W 20lH).
Enlist various types of contracts. Explain any two types of contracts in
detail.
[alae usiRell slegsesil Alel etidl S1SURl A usiR ([AalddiR qudl.

OR
Explain the various cost elements involved in ice plants.
1SU \dlo2etl [d(dy Wleil g2 s) quill.
A diesel generating engine set has a capacity of 380 HP. A generator
coupled with this engine has a capacity of 415 volts and 329 ampere.
Fuel consumption of the diesel engine is 60 liter/hour. Assume the oil
consumption of the engine is 1% of fuel consumption. Operator wages
6000/month. Estimate the electricity generation/kWh. Overheads of
depreciation, maintenance and interest of building capital = 10% of
power production. Take power factor 0.9, diesel price = 40/liter and oil
price = 150/liter.
Us Sl ol Aeedl Wt FUALEL 3¢o HP 8. Al Weel U1 134
eiReRell Gl ¥IU dle2y Wal 3¢ AMUAR B. WeR)ele] FYME SeasUllel €0
dler/sdls 8. Weel WISE SoosUlel §YWE SovUelall 1% HI] wa
w{luR22el) ULIR €ooo M1 @eSal Uld kWh dlo Geulest W« el 513l Wis2
SHRAAA, [letld W W ([Ges]al YSR51Qlel callopel]l tistd RIAUI] Wl
UldR Galltel Wstl 10% dIR] €. UldR ¥522 o.¢ dl. Slnd ua w\8aedl uld
dl22 [5Ud weisH ¥o ua Yo d).
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(c) Whatis Government E - market? Write the advantages for customer and 07
vendors.

(5) R S-UIbe 22 92 Wilee Rl WAl (A2l HI2 U513 §-HIBesll slueld) 09
¥lLdl.



